ABB BK

Simultan 2019-05-27

Partavling, 6 bord, 12 par.

Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 5 147.8 61.59 Maria Gron - Asa Andersson 28267 7928 ABBBK
2 2 131.6 54.83 Lennart Karlsson - Tord Jonsson 2871 2867 Hallstahammars BK
3 10 127.4 53.09 Bjorn Larsson - Karin Larsson 34663 34647 ABB BK
4 6 123.4 5140 Kjell Persson - Ulla Siebenmann 55343 59372 ABB BK
5 1 123.1 51.28 Kjell Lindstrém - Bengt G Lindqvist 88016 50189 ABB BK
6 7 120.8 50.34 Lars Marjoniemi - Bengt-Ake Leskinen 14508 13009 Hallstahammars BK - Smedstadens BK
7 12 116.9 48.70 Bengt Larsson - Sujata Sardesai 32964 32532 ABBBK
8 9 1149 47.89 Stefan Andersson - Stefan Varjomaa 13753 13481 ABB BK - Fagersta BS
9 8 1129 47.03 Solveig Bystrom - Jorgen Lundberg 57019 7657 ABB BK - Hallstahammars BK
10 3 109.6  45.66 Lennart Ekholm - Christer Astrém 50946 38022 ABBBK
11 4 109.0 45.40 Johnny Ramsten - Helena Lindholm 90802 49544 Hallstahammars BK
12 11 102.7 42.80 Marianne Ekholm - Murari Saha 35604 38294 ABB BK
1 4854 Basta kontrakt 2 49762 Basta kontrakt 3 4 E873 Basta kontrakt
Nord v K102 ANT O =-430 Ost vE1073 44 O =-420 Syd v D97 2NT V =-120
Ingen +85 NS + K82 ov + 10654
#108642 & ¢ v & NT *K7 & ¢ v & NT &E5 & ¢ v & NT
4 E96 « KDKn10 N52322 + EK10 4 DKn3 N2 2532 4D954 4 K106 N6 4645
vKn863 v974 S52322 v D82 v 65 S22532 vKn643 K10 S 6 4645
¢ K106 ¢ ED9%4 O 8 109 1010 + 1095 ¢ EDKn4 O 11118 109 +K ¢ ED9873 O7 87 838
#ED3  #K5 vV 8 109 1010 #Kn1093 #ED84 V 11118 109 #Kn763 #K2 V7872838
4732 4 854 & Kn2
vED5 v KKn94 v E852
+ Kn732 +763 ¢ Kn2
#Kn97 #652 #D10984
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 6 3NO+1 3 -430 100 00| 9 1 INO= v9 90 100 00| 4 3 INN-1 46 -50 10.0 0.0
2 11 3NO+2 ¢2 -460 40 60| 7 12 2NO= v4 -120 80 20| 2 11 INV= 43 -90 6.0 4.0
4 3 3NO+2 ¢2 -460 40 60| 2 11 3NO= v4 -400 40 60| 8 6 2¢ 0= *4 -90 6.0 4.0
7 12 3NO+2 ¢2 -460 40 6.0 4 3 3NO= v4 -400 40 60| 9 1 2¢0-= s] -90 6.0 4.0
9 1 3NO+2 3 -460 40 6.0 8 6 3NO= v4 -400 40 6.0 7 12 2¢ O+1 8 -110 1.0 9.0
10 5 3NO+2 ¢3 -460 40 60|10 5 3NO+1 ¥9 -430 00 100(10 5 3¢ O= »8 -110 1.0 90
4 & DKn82 Bésta kontrakt 5 497 Bésta kontrakt 6 8 Bésta kontrakt
Vast v K643 44 V =-130 Nord v KKn92 3NT O =-400 Ost v K753 4v S =420
Alla + KKn86 NS 49863 ov 4875
»8 & ¢ v & NT #KD5 & ¢ v & NT #Kn10852 & ¢ v & NT
41043 4 K975 N369 45 4ED10 4K63 N5456 4 4E543 4 Kn1072 N8 8 107 7
vE v752 S 35945 vE107 v643 S5456 4 v 109 v DKn2 S 8 8 107 7
¢E1072 +D3 O 106 4 8 7 ¢ K752 ¢ EDKn10 079779 ¢ 102 + D963 054365
#EKD76 #10953 V 106 4 8 7 #E86 #4732 V797729 #D7643 #EK V543675
4 E6 & Kn8542 4 KD96
v DKn1098 v D85 v E864
¢ 954 ¢4 ¢ EKKn4
#Kn42 #Kn1094 «9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 11 3vS+1 &A 170 100 00| 1 7 3NV= v2 -400 50 50| 3 11 4vN= A 420 100 0.0
8 12 4a V-1 v3 100 80 20| 3 11 3NV= 49 -400 50 50| 1 7 24V-2 v3 200 70 3.0
10 6 1aV+2 3 -110 6.0 40| 5 4 3NV= +9 -400 50 50|10 6 24 V-2 v5 200 70 3.0
5 4 3&V+l 3 -130 40 60| 8 12 3NV= v9 -400 50 50| 5 4 INS+1 T 120 40 6.0
9 2 3vS-2 *A -200 20 80| 9 2 3NV= +6 -400 50 50| 9 2 INS= *T 90 20 80
1 7 3NV= a2 -600 0.0 100(10 6 3NV= v2 -400 50 50| 8 12 4vN-1 *A -50 0.0 10.0
7  DKn92 Bésta kontrakt 8 41098 Bésta kontrakt 9 4 K8763 Bésta kontrakt
Syd vKn 44 S D -2-500 Vast v Kn2 6y N =980 Nord v EKn 44 N =420
Alla + K94 Ingen +E76 ov + E105
#D9863 & ¢ v & NT #KDKn103 & ¢ v & NT #EDKn & ¢ v & NT
4 K5 463 N6 3383 4 D642 4 Kn53 N 126 128 9 D94 #E10 N8 9 8 109
vKD9762 v84 S 63383 v 743 vD9 S 126 128 9 v 9743 v D865 S 8 9 8 109
+ D107 ¢ EKn532 O 7 10105 8 ¢ Kn1054 ¢ K9832 016141 ¢ KKn4 ¢ D92 O5 45 34
«107 & EK42 V 7 10105 8 *E5 #942 V161141 652 #9843 V54534
4 E10874 & EK7 & Kn52
vE1053 v EK10865 v K102
+ 86 +D + 8763
#Kn5 »876 »K107
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
1 12 3¢ O+1 &A -130 100 00| 9 3 3NN+3 3 490 100 00| 2 8 3NS+1 v4 430 100 0.0
11 4 2vV+1 «Q -140 80 20| 1 12 4v S+2 ¢ 480 6.0 40| 9 3 44 N= «4 420 80 20
2 8 2vV+2 v -170 40 60| 6 5 4vS+2 ¢J 480 6.0 40|11 4 3NN= v5 400 6.0 4.0
9 3 3vV+l 4Q -170 40 6.0|11 4 4v S+2 42 480 6.0 40|10 7 2NN= 9 120 40 6.0
10 7 29v0O+2 46 -170 40 60| 2 8 4v S= a4 420 20 80| 1 12 44 N-2 v6 -100 1.0 9.0
6 5 2vV+3 vJ -200 0.0 10.0[10 7 1lv S+3 ¢J 170 0.0 100| 6 5 44 N-2 9 -100 1.0 90
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10 4 K873 Basta kontrakt 11 4 K93 Basta kontrakt 12 4 EK63 Basta kontrakt
Ost v KKn4 2¢ O =-90 Syd v KDKn10842 3v SD-1-100 Vast vED74 54 N =650
Alla +5 Ingen +6 NS +E9
#DKn942 & ¢ v & NT D4 & ¢ v & NT #EKn7 & ¢ v & NT
& 542 « EKn106 N8 46 66 « D75 4 Kn64 N7 4878 D109 4752 N 118 9 1110
vD1053 vE9 S 84666 v 63 vE95 S7 4878 vKKn8  v9653 S 118 9 1110
¢+ DKn976 ¢ E102 058777 ¢ E85 ¢ D97432 06 9465 ¢ KD106 ¢ Kn732 025412
*3 #K1086 V58777 &#EKKN72 &8 V694635 #954 #102 V25412
D9 « E1082 4 Kn84
v 8762 v7 v 102
+ K843 ¢ KKn10 ¢ 854
*E75 #109653 #KD863
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 8 INO-1 ¢+ 4 100 100 00|12 2 3vyDN= &8 530 100 00| 9 4 3NN+3 &T 690 10.0 0.0
7 6 INO= v8 -90 80 20| 9 4 4¢0-3 v7 150 80 20| 3 1 3NN= +2 600 6.0 4.0
9 4 2vS-1 3 -100 6.0 40 3 1 3vN= »8 140 50 50| 7 6 3NN= +3 600 6.0 4.0
3 1 INO+1 v2 -120 30 70(10 8 3vN= »8 140 50 50(10 8 3NN= +2 600 6.0 4.0
11 5 INO+1 3 -120 30 70| 7 6 4vN-1 *8 -50 20 80|11 5 6#N-1 v5 -100 1.0 9.0
12 2 INO+2 3 -150 0.0 100(11 5 3v N-2 »8 -100 0.0 100(12 2 2v N-1 *J -100 1.0 90
13 & K52 Basta kontrakt 14 45432 Basta kontrakt 15 & KDKn Basta kontrakt
Nord v Kn7532 64 OD-41100 |Ost v 964 5NT O =-460 Syd vKn10863 44 V =-420
Alla + KD5 Ingen + Kn986 NS + D2
#96 & ¢ v & NT »42 & ¢ v & NT #Kn85 & ¢ v & NT
« E976 4« DKn83 N 5 12125 11 «EKn96 4 K108 N23212 486532 4E1094 N6 4536
v10 v 986 S 5 12125 11 v2 vEDKn1053 S 2 3 2 1 2 vK v ED54 S6 4536
¢+ Kn84 463 071181 ¢ K32 ¢ 1074 O 1010111111 49876 ¢ EK4 07 9 7 107
#KD1075 #Kn842 V71181 #KDKn95 &E vV 1010111111 K42 #93 vV 797 107
4104 4 D7 a7
v EKD4 v K87 v 972
+ E10972 + ED5 4 Kn1053
»E3 #108763 #ED1076
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 10 4v N+2 #2 680 50 50| 1 10 2NV= +6 -120 100 0.0| 1 10 INO+1 &7 -120 10.0 0.0
4 2 4v N+2 #4 680 50 50(11 6 2v0+2 &Q -170 80 20| 4 2 3aV= v] -140 70 3.0
8 7 4vN+2 v9 680 50 50(12 3 3NV+l 6 -430 6.0 40(12 3 24 0+1 ¢J -140 70 3.0
9 5 4¢vyN+2 «Q 680 50 50| 8 7 44V+l &4 -450 40 60| 9 5 3aV+l vJ -170 30 7.0
11 6 4v N+2 48 680 50 50| 9 5 3NV+2 v4 -460 20 80|11 6 24 0+2 v¥9 -170 30 70
12 3 4vyN+2 v8 680 50 50 4 2 3NV+3 #4 -490 0.0 100 8 7 1vDN-2 <A -500 0.0 10.0
16 52 Bésta kontrakt 17 & Kn73 Bésta kontrakt 18 & KKn943 Bésta kontrakt
Vast v EKn1073 64 V =-1430 Nord v D32 5NT O =-460 Ost vE92 7¢ OD-4800
oV +D74 Ingen + KD3 NS ¢+ Kn4
#Kn109 & ¢ v & NT #10873 & ¢ v & NT #E105 & ¢ v & NT
4 EKKN983 464 N3 3412 4109 4« ED6 N4 426 2 106 48 N 4 4 11127
v 95 v K64 S33413 vKn109765 vEKS8 S 4426 2 v 107 v Kn86 S 4 4 11127
+ EK65 ¢ Kn9 O 109 7 1210 ¢+ E6 410872 09 9 117 11 ¢+ EKD865 ¢ 10973 089 212
*2 #ED8753 vV 109 7 1210 #EKn9 D52 vV 9 8 117 11 764 #KDKn82 V89212
D107 & K8542 4 ED752
v D82 v4 v KD543
410832 + Kn954 2
*K64 *K64 #93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 8 24V+2 & -170 90 10| 2 10 4v V-1 a7 50 90 10| 2 10 44 S+2 +¢A 680 70 3.0
9 6 34V+L &J -170 90 10| 7 11 4v0-1 *4 50 90 10 5 3 54S+1 ¢A 680 70 3.0
2 10 24 V+3 & -200 6.0 40 1 8 4v 0= v4 -420 30 7.0 7 11 44 S+2 ¢A 680 70 3.0
12 4 3NO+1 ¢2 -630 40 60| 5 3 4v 0= +5 -420 30 7.0(12 4 54S+1 ¢A 680 70 3.0
5 3 4eV+l &) -650 10 90| 9 6 4v 0= a2 -420 30 70| 1 8 5vS= ¢A 650 20 80
7 11 44 V+1 45 -650 10 90|12 4 4v 0= a2 -420 30 70| 9 6 44S-= ¢A 620 0.0 10.0
19 « EKD3 Bésta kontrakt 20 4« E1082 Bésta kontrakt 21 4985 Bésta kontrakt
Syd v EK94 5NT S =460 Vast v 1072 34 N =140 Nord v KD8432 3¢ OD-1100
oV ¢ 842 Alla + E1093 NS 462
*K9 & ¢ v & NT #85 & ¢ v & NT #96 & ¢ v & NT
a- # 1087542 N6 9 109 11 « D93 & Kn54 N7 8798 # 643 « KD102 N7586 7
v 86 vD105 S 6 9 119 11 v 93 v EKn654 S787 98 vE1076 95 S758¢67
¢ E9653 ¢ D7 07 4242 ¢ K86542 +7 055645 ¢+ EK4 ¢DKn1073 O 6 8 5 6 6
#DKn8532 #76 V74242 »D7 #EKn102 V45645 #532 #DKn V58566
& Kn96 » K76 & EKn7
v Kn732 vKD8 vKn
+ KKn10 ¢ DKn 4985
*E104 #K9643 #EK10874
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
3 10 4vS+1 ¢A 450 80 20| 8 11 2¢ V-3 8 300 100 00| 2 1 2vyN= +Q 110 9.0 1.0
8 11 4v N+1 &7 450 80 20| 2 1 INV-2 42 200 70 30| 8 11 2¢N= v5 110 9.0 1.0
9 7 4vS+1 ¢A 450 80 20|12 5 2¢ V-2 8 200 70 3.0 3 10 3¢ O-2 A 100 6.0 4.0
6 4 4y N= &7 420 30 70| 9 7 2NS= +5 120 40 60| 6 4 3¢ 0= *A -110 30 7.0
12 5 4v N= &7 420 30 70| 3 10 3+#S-1 v3 -100 10 90|12 5 24V= *9 -110 30 70
2 1 3NN= a5 400 00 100| 6 4 2#S-1 v9 -100 10 90| 9 7 4vy N-2 +Q -200 0.0 10.0
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22 4 D10974 Basta kontrakt 23 4107632 Basta kontrakt 24 46 Basta kontrakt
Ost v D8 34 S =140 Syd v 9632 3NT V =-600 Vast v KDKn5 4e V =-420
ov +E84 Alla + Kn2 Ingen + K963
&#KDKn & ¢ v & NT &64 & ¢ v & NT #9865 L Y
4E653 4 Kn8 N9 7596 4EKn4 4 K985 N55 6 5 4 & D75 & K10843 N7 45 3
v Kn9 vEK10642 S 9 7 5 9 6 vDKn5 ¢104 S55654 vE9862 3 S7 453
41053 ¢ Kn962 046 835 410543 ¢ E98 0886 809 ¢ EKn104 + D87 O6 8 7 10
10875 &4 V46 835 &ED7 K953 V 8 86 89 &4 &#EK32 V69 7 10
& K2 «D & EKn92
v 753 v EK87 v1074
+ KD7 + KD76 +52
#E9632 #Kn1082 &DKn107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 12 34 N+1 &4 170 100 00| 9 8 3vN-1 &5 -100 100 00| 1 11 3NO-2 &7 100 8.0
9 8 34 N= &4 140 80 20| 3 2 140+1 vA -110 70 30| 3 2 3NV-2 &5 100 8.0
3 2 44S= vJ 130 60 40| 6 12 14 O+1 vA -110 70 30| 7 5 3NO-2 &Q 100 8.0
4 10 44 N-1 &4 -50 30 70| 1 11 INV+2 a3 -150 40 60| 6 12 2NO-1 &7 50 3.0
7 5 24 N-1 vA -50 30 70| 4 10 24 N-2 v4 -200 10 90| 9 8 44 0-1 &Q 50 3.0
1 11 6#S-3 vJ -150 0.0 100 7 5 1l¢ S-2 +3 -200 1.0 9.0( 4 10 3¢ O+1 ¢5 -170 00 1
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